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() 1. Diuretics of Triamterene and Amiloride are dnﬂ'erent mechanism from (A)urea (B) furosemide

(C) spironolactone (D) bumetanide , but have the same primary site of action.
( )2. Furosemide (A) isamitotic diuretic (B) is a high-ceiling diuretic

(C) produce hyperkalemia (D) is a carbonic anhydrase inhibitor.
( )3 Chlorothlamde (A) isaldosterone antagonist (B) acts on the proximal tubule
©) mhxblts Na'/CT’ cotransport (D) might be the of problem menstrual irregularities.
()4, Acetazolamide is used in treatment of  (A) Chemical intoxication (B) Pulmonary edema
(C) Acute mountain sickness (D) reducing cerebral edema .

( )5. Mannitol is used in treatment of

(A) Chemical intoxication (B) Pulmonary edema (C) Glaucoma (D) Cerebral edema .
( )6. Spironolactone (A) binds to intracellular receptors  (B) acts on the ascending loop of Henle

(C) inhibits carbonic anhydrase (D) increases HJr secretion.

( -)7. (A)Undecylenicacid (B)Ethacrynicacid (C) Pantothenic acid (D) Mendelic acid

is used in treatment of athlete’s foot. ' ‘
()8 Chlorohexidine is absorbed of the  (A) DNA (B)RNA (C)cell membrane (D) cell wall

of bacteria used for antiseptic purpose.
( )9. Which one of the following statement is correct : (A) Alcohol — 10 % C2HsOH

(B) Povidone-iodine— 1% 1  (C) Hexachlorophene — 5 % conc. (D) &7k -2 % HyO,.
( )10. (A) Phenol (B)Chloramine T (C)Mercuric chloride (D) Ethyleneoxide = ,a

colorless gas, may alkylates nucleic acid of bacteria.

( )Il. The P-glycoprotein is responsible for multidrug resistance in cancer cell, but (A) Vendesine, prazepam
(B) Morphine, atropine  (C) Verapamil, quinidine (D) Bleomycm fluorouracil are able to
inhibit transportion of the protein.

( )12, (A)Hepatotoxicity (B) Nephrotoxicity (C)Bleeding (D) Pulmonary fibrosis

remains the major side effect of Cisplatin.
(  )13. (A)Hepatoxicity (B) Nephrotoxicity (C)Bleeding (D) Pulmonary fibrosis
remains the major side effect of Bledmycin .
( )14, Drug are correctly matched with a major adverse effect EXCEPT
(A) prednisone : bone marrow supression  (B) Cyclophosphamide : hemorrhagic cystitis
(C) Daunorubicin : cardiomyopathy (D) S-fluorouracil : bone marrow depression.
(' )15. Drug are correctly matched with their mechanism of action EXCEPT
(A) mercaptopurine : antimetabolite agent (B) lomustine : alkylating agent
(C) cytarabine : hormone receptor agent (D) vincristine : antimitotic agent.
( )16.  All of the following statements regarding doxorubicin are correct EXCEPT
' (A) it is a CCNS (cell cycle-nonspecific) agent (B) it intercalate with DNA
'(C) it can cause cardiotoxicity (D) it is one of combination drugs - MOPP,
( )N7. Teniposide, the anticancer agent, inhibits enzyme of  (A) topoisomerase II
(B) thymidylate synthetase  (C) folate reductase (D) PRPP amidotransferase.

(  )8. (A)Hydroxyurea (B) Prednisone (C) Asparaginase (D ) Paclitaxel, acts as a mitotic inhibitor ,

stabilizes microtubules in the polymerized form

( )19. Stragies for hormone therapy of prostate carcinoma include inhibition of gonadotropin release by

administration of estrogen or GnRH analog : (A) Tamoxifen (B) Leuprolide (C)Melphalan (D)
Flutamide, orchietomy, and administration of antiandrogens.
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Choose one most appropriate answer: M*MH Zhh
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) 1.Which of the following immunosuppressive agents has the minimum bone marrow
toxicity? (A)Cyclophosphamide, (B)Cyclosporines, (C)lmmuran, (D)OKT-3
) 2.Which of the following immunosuppressive agents is a kind of folic acid antagonist?
(AFK 506, (B)Decaris, (C)Methotrexate, (D)Alkyloxan
) 3.Which one of the following drugs has the obvious therapeutic effect on autoimmune
IDDM? (A)Rapamycin, (B)Cyclophosphamide, (C)FK-506, (D)Cyclosporin A
) 4.The most often occurred side effect of cyclosporine is (A)nephrotoxicity,
(B)hepatotoxicity, (C)predisposition to opportunistic viral infections, (D)hirsutism
) 5.Which of the following viral enzymes could firstly lead the anti-AIDS drug-AZT into
AZT maonophosphate? (A)DNA polymerase, (B)Thymidine kinase, (C)Thymidylate
kinase, (D)HIV reverse transcriptase
) 6.(A)Hydrocortisone, (B)Dexamethasone, (C)Fludrocortisone, (D)Methylprednisolone
has the highest glucocorticoid activity.
) 7.(A)Hydrocortisone, (B)Dexamethasone, (C)Fludrocortisone, (D)Methylprednisolone
has the strongest antiinflammatory activity.
) 8.The highest serum level of cortisol often appeared at (A)1:00 AM, (B)6:00 AM,
(O)17:00 PM, (D)24:00 PM
}9.(A)Hydrocortisone, (B)Dexamethasone, (C)Fludrocortisone, (D)Medlylpredmsolone
has the highest mineralocorticoid activity.
)10.(A)Hydrocortisone, (B)Dexamethasone, (C)Fludrocottisone, (D)Methylprednisolone
has the longest duration of sodium-retaining action.
)11 Metyrapone may (A)increase 11- 8 -hyroxylase, (B)inhibit 11- 8 -hyroxylase,
(C)increase 17- 8 -hyroxylase, (D)inhibit 17- 8 -hyroxylase,
)12.Which one of the following is the main physiological action of aldosterone on distal
tubule? (A)increase Na* ion reabsorption, (B)decrease Na® ion mbsorpnon,
(C) increase K* ion reabsorption, (D) decrease K* ion reabsorption
)13.(A)Testosterone, (B)Adrenaline, (CYCortisol, (D)Prednisolone could be used in the
treatment of Addison's disease.

© )14.Cushing’s disease often occurred by over-secretion of (A)Testosterone, (B)Adrenaline,

(C)Contisol, (D)Prednisolone
)15.(A)Monoiodotyrosine, (B)Diiodotyrosine, (C)T3, (D)T4  is the most
important and most effective thyroidal hormone.
)16.Vascularity, myxedema and hyperplasia of thyroid gland may be induced
by (A)hyperthyroidism, (B)hypersecretion of TSH, (C)hyposecretion of
TSH, (D)hyposecretion of TRH
N7.Serum (A)TRH, (B)TSH, (C)T3, (D)T4 level may decrease obvmusly in
hyperthyroidism petients,
)18.Which one of the following radiactive ray which radiste from
. radiolabeled iodine-131 could be used clinically mdys&oymgthe
thyroid? (A)a,(B)8,(C) 7, (D) & »
)19.(A)Tertroxine, (B)Propylthiouracil, (C)Neo-thyreostat, (D) Tapazole could be used in the '
treatment of hypoythyroidism?:
)20.The normal serum level of T3 is (A)0.5~35 1 g/ml, (B) 80~180ng/ml, (C) 5~12.5

gml (D)12.5~50 ug/ml . % ( z 2
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()21, The normal serum level of T4 is (A)0.5~5 1. g/ml, (B) 80~180ng/ml, (C)5~125u
g/ml, (D) 12.5~50 1 g/ml

)22. “Ihenmnalsenumlewslof’l’SHns(A)O 5~5 1 g/ml, (B)80~180ng/ml, (C) 5~125
g/mly (D) 12.5~50 ;2 g/ml

( )23.(A)Provera, (B)Premarin, (C)Clomiphene, (D)Estradiol is often used to advance or

delay the mestruation cycle.

(  )24Zoladex depot is often used to treat endometriosis by S.C. injection, q 28 days, its safe
therapeutic course should not be over (A)3 months, (B)4 months, (C)5 months (D)6
months

(  )25.The maximum safety dose of clomiphene is (A)50 mg, (B)100 mg, (C)150 mg, (A)200
mg .

( )26.Clomiphene should be administrated at the (A)1 ~5 days, (B)5~9 days, (C)7~11
days, (D)9~ 13 days of menstruation cycle.

( )27.Since the oral contraceptive tablet contains too much estrogen, it may induce the side
effect of (A)thrombophlebitis, (B)liver damage, (Cyrenal damage, (D)bone marrow

( )28.The normal serum Estradiol(E2) level on the 1* day of menstmatlm cycle is (A)53.3

1 189pg/ml, (B)231.5 + 102.8pg/ml, (C)294.8 T 82.3pg/ml, (D) 149.5 +
432pg/mi Hepatitis
( )29Wh1¢hkmdofdxefollowmghep%v1msbelongstoDNAvuus?
(A)Hepatitis A virus, (B) Hepatitis B virus, (C)Hepatitis C virus, (D)Hepatitis D virus
( )30.The main adverse effect of lamivudine is (A)Respiratory arrest, (B)Rhabodomyolysis
(Skeletal muscle lysis), (C)Nephrotoxicity, (0)Bone marrow depression
( )31.Which one of the following drug is often prepared into a kind of effervescent
tablet? (A)Eucol, (B)Proheparum, (C)Essential, (D)Silymarin
(  )32.The maximum safety dose of silymarin is (A)140mg, (B) 210mg, (C)420mg,

(D)560~600mg
FIXE BHF

Choose the most appropriate answer: (9 %)

() 1. The release of newly generated membrane-derived lipid mediators from mast

cells may be prevented by-(A) nonsteroidal antiinflammatory drugs (B)
lipocortin (C) antihistamine (D) nifedipine.

( ') 2. The By-adrenergic agonist, (A) metaproterenol (B) albuterol (C) terbutaline
(D) salmeterol is NOT effective in treating acute exacerbations of asthma,

() 3. Cromolyn sodium can inhibit the release of (A) histamine (B) prostaglandin
(C) leukotriene (D) interleukin from mast cells.

() 4. Monitoring serum concentration of (A) cromolyn sodium (B) glucocortico-
steroid (C) theophylline (D) ipratropium bromide is necessary for any
asthmatics. v

() 5. The glucocorticoid-binding domain is located at (A) carboxy-terminus (B)
amino-terminus (C) middle part (D) “two-finger” structure region of
glucocorticoid receptor.

( )6 (A)' Prostaglandin (B) Leukotriene (C) Tryptase (D) Cytokine may be
released after triggering by allergen within 5 mins.

t— (—) 7. Cromolyn sodium and. Nedocromil sodium are active by (A) inhalation (B)
oral administration (C) subcutaneous injection (D) any of the above.
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) 8. The molecular mechanism of action of theophylline on bronchodilation is
(A) inhibition of cAMP phosphodiesterase (B) adenosine antagonism (C)
alteration of intracellular calcium transport (D) unclear.

() 9. The activated glucocorticoid receptor translocates from the cytoplasm to the

nucleus and binds to glucocorticoid responsive element to upregulate the
genes of antiinflammatory agents EXCEPT (A) lipocortin (B) nitric oxide
synthase (C) neural endopeptidase (D) inhibitors of plasminogen activator.
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(1-4) Please choose the following gene products (a-f) being correctly matched to the questions:

a. adenosine deaminase (ADA),
CFTR (CI" channel),
HS-thymidine kinase (TK),
LDL receptor , '

o e o

glucocerebrosidase,
£ P53 o
) L which'gené encoded-virus could improve SCID syndrome
) 2. which gene encoded-virus could improve cystic fibrosis
) 3. which gene encoded-virus could improve glioblastoma
} 4. which gene encoded-virus could improve Gaucher disease

) 5. Which one of the following statements about retrovirus is not true?
(A)“psi” is a packaging signal
(B)integration into host DNA
(C)transfection requires cell division
(D)no semi-random integration
) 6. Vectors for gene transfer include the following except:
(A) Recombinant plasmids
(B) Recombinant plasmids mixed with microsomes
(C) Genetically engineered human adenovirus
(D) Genetically engineered retrovirus
)} 7. Which one of the following statements about adenovirus is nnt true?
(A) efficient transduction of nondividing cells in vitro and in vivo
(B) the E1 gene responsible for replication and packaging but not for infection
(C) without induction of host immunological response
(D) without integration into host DNA, therefore, only transient expression
) 8. Gene therapy can be used to treat the following kinds of diseases:
(A)Hereditary diseases
(B)Cancer
(C)Those characterized by a single protein defect
(D)All of the above

) 9. What science is to understand the correlation between an individual patient’s‘genetic

make-up (genotype) and their response to drug treatment.
(A) Pharmacokinetics
(B) Pharmacogenomics

(C) Pharmacodynamics

(D) Proteomics % ( z 4 ) E
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| () LTHIIRE SR % & S 2 M7 (A) Aluminum hydroxide  EHM  ZAf
(S 2 53 )(22%) (B) Magnesium hydroxide (C) Sodium bicarbonate (D) Calcium carbonate
()2 FTHTHMEEMRI WA EFARIM?  (A) Pirenzepine (B) Ranitidine
(C) Misoprostol (D) Sucralfate (E) Omeprazole
( )3THRHZERE L REEBERBAIEM?  (A) Cisapride
(B) Metoclopramide (C) Scopolamine (D) Ondansetron (E) Bethanechol
( )ATIHTHERTIERARIR? (A) Psyllium (B) Danthron (C) Senna (D)
~ Castor oil (E) Bisacodyl
() S FHU{aITE 20 s ROuE L RN 7
(A)5HT; (B)H; (C)D; (D)M: (B) A _E 254 B
() 6T o I i B E I €2 Insulin #&BR? (A) Troglitazone
(B) Chlorpropamide (C) Glimepiride (D) LA L& H M
()7 F5URE M BE 3R 7 2 B 55 5 RS IR E - THEEEAERT
(A) Glipizide (B) Acetohexamide (C) Chlorpropamide (D) Tobutamide
() 8. THUA F ARk i /E F 518 + duration FR?
" (A) Ultralente (B) Semilente (C) NPH (Isophane) (D) Lente
() 9.Oxytocin e # F SRR (A) &1k Phospholipase C (B) %14k Adenylate
cyclase (C) #il Adenylaté cyclase (D) Open calcium channel
()10 TFHU AT 0] A 2 4 98 op R 1 91K ) ABJE (Central amenorrhea) ?
(A) GnRH (B) GHRH (C) Bromocriptine (D) CRH (E) Somatostatin
(1L TH){a 3% M, somatostatin analog? - (A) Octreotide (B) Desmopressin
(C) Clomiphene (D) Dolasetron (E) Ll E®FE
HEE : 9% | (Den3-9006) TS EHT

1. #R8A ethylene glycol ‘PEEMISTIAER AR FIE.  (3%)
2. BRIy BN AR, O%)
3. —AERER L ATERERE TR AIER T RA(ead) T 7 (%)




